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Run 4413 mpswise, accO: All

Enilries: 12953192

Mean: B274T 4~ 00017

Sid Dev: 1.9678 +- 0.00712

25
AcciNAccD

Run 4413 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==1

Enitries: 421696

Mean: 93097 +- 0,008

Sbd Dey: 05508 4+~ D.000E

Enitries: 421705

Mean: 94250 4/~ 0.000E

Std vz 05316 - 00006
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Run 4413 mpswise, acc(: Beam OFF

Enlries: 40523

Meari: 07292 4/- 0.0008

Sid Dev: 01GTT - 000086

1
2.5
AccliNAccD

Run 4413 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Enitries; 183531

Mean: 68463 4/- 00011

Sid Drev: 04902 - 0.0008




Run 4413 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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mpsCoda
Run 4413 mpswise, AccO/NAccO:mpsCoda, beam ON, laser ON
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Accl/MNACCD

Accl/NACeD

Run 4413 mpswise, AccO/NAccO:mpsCoda, beam OFF
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mpsCoda
Run 4413 mpswise, AccQ/NAccO:mpsCoda, beam ON, laser OFF
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